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Marriage is an old-fashioned, outdated tradition 

Married people are generally happier than unmarried 
people 

Divorce is usually the best solution when a couple 
can’t seem to work out their marriage problems 

One parent can bring up a child as well as two parents 
together  

Do you agree or disagree with the following statement... 

Strongly agree Agree Neutral Disagree Strongly disagree Do not know 
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A working mother can establish just as warm and 
secure a relationship with her children as a mother 

who does not work  

A child younger than 5 years is likely to suffer if his or 
her mother works 

A job is all right, but what most women really want is a 
home and children 

Being a housewife is just as fulfilling as working for pay 

Do you agree or disagree with the following statement... 

Strongly agree Agree Neutral Disagree Strongly disagree Do not know 
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The government should assist families to stay together 

The government should spend more on providing 
advice to married couples 

Government should spend more taxpayer money on 
providing advice to parents/caregivers on how to raise 

their children 

There should be sex education in schools 

The government should do more to help and support 
fathers 

Do you agree or disagree with the following statement... 

Strongly agree Agree Neutral Disagree Strongly disagree Do not know 


